## **Garland Independent School District**

## GISD Sourcing Bid Tab Report

Bid#:	31761	Title: 212-17
		Locks and Lock
		Components
		(Warehoused)
		`

Quote# Vendor / Supplier
499827 \*ACCREDITED LOCK AND DOOR HARDWARE CO DBA
489816 CRAFTMASTER HARDWARE LLC
499827 \*ACCREDITED LOCK AND DOOR HARDWARE CO DBA
489816 CRAFTMASTER HARDWARE LLC
400 off
minimu
489815 W W GRAINGER INCORPORATED DBA GRAINGER
489815 W W GRAINGER INCORPORATED DBA GRAINGER
489816 CRAFTMASTER HARDWARE CO DBA
400 off
minimu
70 varies
10 long as
10 they

4NS - Not to specifications

					*CONFIDENTIAL			
		Award						
Line#	Item Description		Reason	UOM	Supplier	Qty	Price	Extended Price
					*ACCREDITED LOCK AND DOOR HARDWARE CO DBA	_		
1	LOCK, MORTISE, SARGENT 8204-LNJ #US26D-LB KEY WAY	У		EA	ACCREDITED LOCK SUPPLY CO	5		
				FΔ	HANS JOHNSEN CO.	5	\$302.32	\$1,511.60
						-	· ·	***************************************
				EA	CRAFTMASTER HARDWARE LLC	5	\$332.00	\$1,660.00
				EA	W W GRAINGER INCORPORATED DBA GRAINGER	5	\$491.15	\$2,455.75
2	LOCK, MORTISE, SARGENT 8225-LNJ #US26D-LB KEY WAY	v		ΕΛ	*ACCREDITED LOCK AND DOOR HARDWARE CO DBA ACCREDITED LOCK SUPPLY CO	15		
	ECCK, MONTISE, SANGENT 0223-ENJ #0320D-ED RET WAT	У		EA	ACCREDITED EOCK SUFFET CO	13		
				EA	HANS JOHNSEN CO.	15	\$319.50	\$4,792.50
				EA	CRAFTMASTER HARDWARE LLC	15	\$350.00	\$5,250.00
				EA	W W GRAINGER INCORPORATED DBA GRAINGER	15	\$423.57	\$6,353.55
3	LOCK, ANDERSON HICKEY #15400, KEYED ALIKE OR EQUAL	у		EA	*ACCREDITED LOCK AND DOOR HARDWARE CO DBA ACCREDITED LOCK SUPPLY CO	5		
		у	ALT	EA	HANS JOHNSEN CO.	5	\$9.35	\$46.75
				EA	CRAFTMASTER HARDWARE LLC	5	\$9.65	\$48.25
4	LOCK, THUMB LOCK, MORTISE, ILCO 7161TK2-26D OR EQUAL	у		EA	HANS JOHNSEN CO.	5	\$5.25	\$26.25
					*ACCREDITED LOCK AND DOOR HARDWARE CO DBA			
-			-	EA	ACCREDITED LOCK SUPPLY CO	5		
						_		
				EA	CRAFTMASTER HARDWARE LLC	5	\$6.75	\$33.75
				FΛ	W W GRAINGER INCORPORATED DBA GRAINGER	5	\$8.13	\$40.65
L			1	EA	IN AN GUARRISEK INCOKPOKATED DDA GKAINGEK		<b>\$0.13</b>	<b>Φ40.0</b> 3

Line#	Item Description	Award (Y / N)	Reason	UOM	Supplier	Qty	Price	Extended Price
5	LOCK MORTISE RUSSWIN, ML2055-LWN-626-981, US26D	y		EA	*ACCREDITED LOCK AND DOOR HARDWARE CO DBA ACCREDITED LOCK SUPPLY CO	1		
				EA	CRAFTMASTER HARDWARE LLC	1	\$278.00	\$278.00
				EA	HANS JOHNSEN CO.	1	\$292.50	\$292.50
				EA	W W GRAINGER INCORPORATED DBA GRAINGER	1	\$396.57	\$396.57
6	LOCK, PADLOCK, KA X2105, #1 MASTER	N	4NS	EA	*ACCREDITED LOCK AND DOOR HARDWARE CO DBA ACCREDITED LOCK SUPPLY CO	20		
		У		EA	HANS JOHNSEN CO.	20	\$6.22	\$124.40
				EA	CRAFTMASTER HARDWARE LLC	20	\$6.95	\$139.00
7	LOCK, PADLOCK, #1 MASTER, KA 2126	у		EA	*ACCREDITED LOCK AND DOOR HARDWARE CO DBA ACCREDITED LOCK SUPPLY CO	50		
				EA	HANS JOHNSEN CO.	50	\$6.22	\$311.00
				EA	CRAFTMASTER HARDWARE LLC	50	\$6.95	\$347.50
				EA	W W GRAINGER INCORPORATED DBA GRAINGER	50	\$12.06	\$603.00
8	LOCK, PADLOCK, COMBINATION 4 NUMBER LOCK, #175 MASTER	у		EA	*ACCREDITED LOCK AND DOOR HARDWARE CO DBA ACCREDITED LOCK SUPPLY CO	20		
				EA	HANS JOHNSEN CO.	20	\$10.81	\$216.20
				EA	CRAFTMASTER HARDWARE LLC	20	\$12.05	\$241.00
				EA	W W GRAINGER INCORPORATED DBA GRAINGER	20	\$17.43	\$348.60
9	LOCK, DRAWER, NATIONAL, C8803-C390A-14A OR EQUAL	У		EA	*ACCREDITED LOCK AND DOOR HARDWARE CO DBA ACCREDITED LOCK SUPPLY CO	1		
				EA	CRAFTMASTER HARDWARE LLC	1	\$5.40	\$5.40
				EA	HANS JOHNSEN CO.	1	\$5.68	\$5.68
				EA	W W GRAINGER INCORPORATED DBA GRAINGER	1	\$6.31	\$6.31
10	DOOR CLOSER, SARGENT, 1430-EN 25-P9 REGULAR ARM	У		EA	*ACCREDITED LOCK AND DOOR HARDWARE CO DBA ACCREDITED LOCK SUPPLY CO	20		
				EA	HANS JOHNSEN CO.	20	\$161.80	\$3,236.00

Line#	Item Description	Award (Y / N)	Reason	UOM	Supplier	Qty	Price	Extended Price
				E4	CRAFTMASTER HARDWARE LLC	20	\$180.00	\$3,600.00
				LA	CRAFTWASTER HARDWARE LLC	20	\$180.00	\$3,000.00
				EA	W W GRAINGER INCORPORATED DBA GRAINGER	20	\$322.95	\$6,459.00
					*ACCREDITED LOCK AND DOOR HARDWARE CO DBA			
11	DOOR STOP, TRIMCO 1214-ES	у		EA	ACCREDITED LOCK SUPPLY CO	100		
				EA	CRAFTMASTER HARDWARE LLC	100	\$18.00	\$1,800.00
				EA	W W GRAINGER INCORPORATED DBA GRAINGER	100	\$197.89	\$19,789.00
					*ACCREDITED LOCK AND DOOR HARDWARE CO DBA			
12	DOOR STOP, TRIMCO 1211 RP CAST	у		EA	ACCREDITED LOCK SUPPLY CO	5		
				EA	CRAFTMASTER HARDWARE LLC	5	\$6.00	\$30.00
				EA	W W GRAINGER INCORPORATED DBA GRAINGER	5	\$197.89	\$989.45
					*ACCREDITED LOCK AND DOOR HARDWARE CO DBA			
13	DOOR VIEWER, DON-JO DV-180 OR EQUAL	у		EA	ACCREDITED LOCK SUPPLY CO	5		
				EA	CRAFTMASTER HARDWARE LLC	5	\$2.70	\$13.50
				EA	HANS JOHNSEN CO.	5	\$3.19	\$15.95
				EA	W W GRAINGER INCORPORATED DBA GRAINGER	5	\$10.36	\$51.80
14	RING KEY, LUCKEY #28200	у		вх	*ACCREDITED LOCK AND DOOR HARDWARE CO DBA ACCREDITED LOCK SUPPLY CO	5		
				ВХ	W W GRAINGER INCORPORATED DBA GRAINGER	5	\$5.21	\$26.05
				вх	CRAFTMASTER HARDWARE LLC	5	\$6.75	\$33.75
				- N	uung laungsu oo	_	47.55	407.75
				ВХ	HANS JOHNSEN CO.	5	\$7.55	\$37.75
15	KEY, SARGENT MULLION, REMOVEABLE, L980S, 96" STEEL	N	4NS	EA	W W GRAINGER INCORPORATED DBA GRAINGER	5	\$118.17	\$590.85
		у		EA	*ACCREDITED LOCK AND DOOR HARDWARE CO DBA ACCREDITED LOCK SUPPLY CO	5		
				EA	HANS JOHNSEN CO.	5	\$446.82	\$2,234.10
				EA	CRAFTMASTER HARDWARE LLC	5	\$473.00	\$2,365.00
16	DOOR SWEEP, NATIONAL GUARD #600, 36" ALUMINUM OR EQUAL	у		EA	*ACCREDITED LOCK AND DOOR HARDWARE CO DBA ACCREDITED LOCK SUPPLY CO	5		

Line#	Item Description	Award (Y / N)	Reason	иом	Supplier	Qty	Price	Extended Price
		(1,7,1,7						
				EA	W W GRAINGER INCORPORATED DBA GRAINGER	5	\$9.59	\$47.95
				EA	CRAFTMASTER HARDWARE LLC	5	\$14.50	\$72.50
17	LOCK, FILE CABINET, HON F28, KEYED ALIKE OR EQUAL	у		EA	HANS JOHNSEN CO.	5	\$6.24	\$31.20
					*ACCREDITED LOCK AND DOOR HARDWARE CO DBA ACCREDITED LOCK SUPPLY CO	5		
				EA	ACCREDITED LOCK SUFFLY CO	3		
				EA	CRAFTMASTER HARDWARE LLC	5	\$7.50	\$37.50